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1. REHEEX (BfL : p Sv./h)

BIE A 5A2H 5A9H 5A16H 5A238 58308
1 |Ts=mEEs 0.80 0.80 0.90 0.85 0.80
2 | ABEEBEEBILNT (H) 0.35 0.35 0.35 0.35 0.35
3 |ABREEEERTL T (FEA) 0.75 0.75 0.75 0.70 0.70
4 |ERRLEBA 15 15 15 15 14
5 |TH&EMHAD 14 14 14 14 14
6 |HsiERIEEIS (3R) 35 38 40 40 40
7 | emsEEss (F) 25 25 25 2.5 2.7
8 |HsiERIEEIS () 4.9 50 48 48 48
9 |HshRELEIS (F) 4.2 4.2 4.2 4.2 4.4
10 |5\ s RFEBIG 5 (F) 1.8 1.8 18 2.0 1.9
11 |HE5hch RFE IG5 (F6) 2.6 25 25 25 2.6
12 |HE5h s RFEBIG IS (L) 2.2 2.2 20 2.0 2.2
13 |5\ shREEE 1S (L F) 2.3 25 25 2.5 2.5
14 |Frgs kEarr AL EE Al 0.35 0.35 0.35 0.35 0.35
15 |Hs+LBIgEE1S (7) 0.80 0.80 0.80 0.75 0.75
16 |HsLBIEEE1S (ib) 0.45 0.45 0.45 0.40 0.40
17 |HsLBIgEE1s () 1.0 1.0 0.90 0.80 0.80
18 B msimtaE = (L) 1.0 0.90 0.85 0.80 0.80
19 |HEBRLAIEES L) 0.60 0.60 0.60 0.60 0.65
20 [FEHEEEREAD 0.50 0.50 0.50 0.50 0.60
21 |FEBHE3IBS—+ 0.25 0.25 0.25 0.25 0.25
22 |HEBHEIBS—MIEES 0.35 0.35 0.35 0.35 0.35
23 |FEBE2Er—+ 0.25 0.30 0.30 0.25 0.25
24 |HEHER(E) 1.1 1.1 12 1.0 10
25 |\ R#EEFTER 0.45 0.45 0.45 0.45 0.45
26 |HshehREiELS () 0.60 0.70 0.65 0.70 0.75
27 |FEBE1ES—+ 0.18 0.18 0.18 0.18 0.18
28 |HEHR(FER) 0.80 0.90 0.90 0.90 0.80
29 [EfESAE L) 0.70 0.70 0.70 0.70 0.70
30 |[EEaAEGLE) 0.25 0.25 0.25 0.25 0.25
31 |&ERAE(FEHE) 0.25 0.25 0.25 0.25 0.30
32 [AEEEEEHAD 0.20 0.20 0.20 0.20 0.20




